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COMPUTER SCIENCE AND APPLICATION |
( Theory )

] Full Marks: 70"

Time : 3 hours
The figures in the margin indicate full marks for the questions .

1. Answer the following questions : , . 1x8=8
o 2pepTRd Ted il : |

(a) What happens when two variables have the same 1dent1ﬁer-
in nested scope? - S

Nested scope © {51 5a9 ¥ identifier 2M¥c & 7

(b) Why is the'argument-type int’in all the charactcr-handling
functions? ‘

Character handie £ W function3yz® argi.miént—type
‘int’ R 07 R
(c) What is the purpose of using typedef ACqmmand iri‘C++?.
C++© typedefﬁt‘f“fWWﬁ? ' |
(d) What is meant by a package?
«B1 package 3o ¥ 3@R 2
(¢) What is character constant in CH++?
C++® characfer constant 2
(! What does program maintenance refer?

Program maintenance-9 & 3o/ ?



(2)

(9) Why is the size of character arrays declared one more than
the largest string they can hold?

Character array” 23 size declare IS WT@ R o
W%W@m string®sts ¥y @b @WWTN"
(h) What are reference parameters?

Reference parametersiyR 2.

2. Answer any ten qu.estions‘from the following : 2x10=20
(@) What is distributed operating system?
Distributed operating system f%?
(b) “What does .disk defragménter do?
Disk défragmenter-ﬁ R o
“(c) "Convert the octal number 36743 to blnary o
Wﬂiﬂﬂ 367453 (48 I IR T |

(d) Write brleﬂy about Blu—ray D1sc
" Blu-ray Discd R s:{tasm |

(e) Rewrite the followl,ng program removing the errors :.

TR SR @7 2ol Wt forg

#include
const int a =5; .
void main()

a 10; .
cout>>“The value of a is: ”<< a
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(3)

() Write the use of % = operator with anexample.-

<51 SRR (TS % = operatory IJR[ 3, o1 -

(g9 What Adqes documentation refér to?
Documentation-& & 3P 2.

(h) Why are- loglcal errors harder to detect?
Logical erroriyz &3 C’f@'fﬁm <P ﬁ‘ﬂ ?

(i) What are meant by testing and debuggmg ina program'p
e uﬂf‘ﬂ testing WI¥ debugging {?'TCF{ & {@m 7. ;

H

G Rewrite the following statement u'si"né if-else : -
if-else TATN IR O OREB PR BT :
x=(y<2z?y:z)

N

(k) In what two ways the :return statement.is useful in
a function?

‘Function a%rﬁsz{i«m remmmW?

RS Dlstmgtush between the followmg functlons :

' R function R W 1 O
isupper () and (S%) toupper ( )

(m)-Write the output of the- following ‘program :
 ww ﬁWWﬁ”{’? fora : -

# 1nclude<1ostream h>
void mam()

char a[2] [10]= {“hlghway”, Corndors”},
cout << a[0] << endl

. cout<<alfl}];

}
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3. Answer any nine questions from the following : 3x9=27
wo R Ie 161 2re Teq e |
(@) Explain the three types of language processor. 3

(b)

(c)

(d)

(e)

(9)

8C/26

&S 439 language processor I F41 |

Write three advantages of usmg UNICODE | o 3
UNICODEwaf%ﬁ%rqﬁmﬁrm | o

Wnte a C++ program to take a oharacter from the user
and print its ASCII code. ‘ 3

JRYIFRI *[41 @61 character 329 $R TR ASCII code (TR
C++ 2T <1 oy |

Discuss the two forms used to write real constants. 1%x2=3
Real constant™g friater T@g] 91 @T EE DR ) 2 G I
Give the difference between type casting and automatic

type conversion. Also, give a suitable C++ code to illustrate
both. . _ . 1%+1%=3

Type casting W automatic type conversion3d IO M

| m@iﬁiﬁﬁ?ﬂ@ﬁﬁw C++ codese fil |

What is the role of c¢omments and -indentatio’n‘ in
a program? 2+1=3

A’ GBre comment’!{{ wWF 1ndenta,tlonﬁ —fﬁ@ ﬁ‘ ?

Write an algorithm to find whethcr a given number is
odd or even. 3

<1 TR SR A G g SRR algorithm «mm.
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(h) Given the following for loop :
@] for loopC'BI frm e

const 1nt XY 20, :
for (int i=1, sum=0; i < XY; 1++)
sum + =1,
cout << sum;
Write the equivalent while loop for the above code. 3

.- @EE coded IR WY while loopdBt forn 1 -

() Wnte a Cr+ program that prlnts 1392781 243 " 3

1 3927 81 243 mm«waﬁcw a’zﬂaﬁmu

() Write a C++ program to calculate the mean of three given
numbers usmg a functlon | . 3

Funcﬁonaﬁwﬁﬁmww%ﬁmﬂ%ﬁww
C++ 2 o

(k) Write a C++ program ta copy one sttnng into another us1ng
strepy( ). ST 3

 strcpy() 92N IR @F string Y GF stnng?ﬁ copy W W
@B C+ e o |

U] Write the dlfferences bctwecn returnmg values and
ret"urnmg rcferenccs. 3

Retuming values WI® returning referencesd Wed (e ﬁm I
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4. Answer any three questions from the following : : . =~ 5x3=15

ol R I FoRbt oy Tes ol

(@)

(b)

(c)

What is a variable? Why is a variable called symbolic
variable? What do you mean ‘by dynamu: initialization of
a variable? Give an example.: S 1+1+2+1=5

Variable &7 Variable @5/ &% symbolic. 'variable I @

T Variable @b dynamic initialization iﬁrﬁ = Tsmv <31

Construct logical expressmns to. represent the following

conditions : 1x5=5

S W“F{i oI a?ﬁﬁi*'{ logical expressmnm{q oo 0

(i) Helght is greater than or equal to 150 but less than 165
Tl 150 1 ©retF (AR G 1659 I 1+ - 4

(i) a is odd.
. A o e
(iii) Fees is in the range 1000—2000 o Otime is 5000.
- - WpeR AfRP™ 1000-2000 31 Otime 5000, :
(iv) chc is an uppercase letter. '
chc «bl 3TN ST |

" (v) xis even but less than 100.:. - =« i . i

x Ju ¥R 100%cF 3 |

When is a default argument value used 1n31de a functlon?
When can any argument have a default value? State two
advantages of default value. What is the use of constant
arguments'o> 1+1+2+1 5

Function' @5 foet® b1 default argument va]ue @F‘m W
W? R @A argumentI @A default value YR oK 7

- Default value 3. 751 R4 Tty 41| Constant . -wMentw{a
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(7)

(d) Write a function in C++ to find and display the sum of
each row and each column of a 2-dimensional array of

type float. Use the array and its size as parameters with
float as its return type. 5

Type float I &S 3= B AR 1R = AR W1 @
Sfemi o PR @1 C++ function BT | Float return type 3
oo "1%*1'&1'631 ¥ TR size parameter BoIC IRR] [T |

(e) What is a structure? Discuss the similarity and differences .
of a structure as compared to an array and a class. What
are nested structures? 1+3+1=5

Structure 2 Structure 9BR <51 array WiF bl class I goMI®
T ST S CPIPIPTIR ST 41 | Nested structurediyz ¥ 2

* %k %
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